Interval 1 Interval 2 Interval n
ATGGCGTAACCCTTA...| ACGCGTACAATGCGT...|cuvuuuummmmcceerernenens |CCTTGAACAGTAGTC...
Permute
GTTACGCTAATCCGA...|CCGTAGGATTAACGC...|ccocsrrrrrccerecreverrnnnns |CATTTGAGACGACCT...
Calculate # motifs/distance
for each interval Interval 1 Interval 2 Interval n

AAAA/TTTT 0.0297 0.0298 0.0347
AAAC/GTTT 0.0168 0.0162 0.0181
AAAG/CTTT 0.0122 0.0116 0.0127
AAAT/ATTT 0.0312 0.0312 0.0344
CCGG/CCGG 0.0024 0.0029 0.0016

Crossovers ~ left|right + AAAA
Crossovers ~ left|right + AAAC
Crossovers ~ left|right + AAAG
Crossovers ~ left|right + AAAT

Crossovers ~ left|right + CCGG

Deviance = 73.648
Deviance = 75.984
Deviance = 75.023
Deviance =72.309

Deviance =71.487

Fit motif distributions individually to
linear model of crossover distribution;
choose one with best fit (i.e. lowest

Figure S2: Small sequence motif permutation test pipeline.

residual deviance)

Repeat x1000; compare to observed data



